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The figures in the margin indicate
~ full marks for the questions.

hhs_wer either in English or in Assamese.

1. Answer the following questions: 1x7=7
Goiq SHTAIRT el ¢

(a) What is meant by normalised wave
function? °

TRAIRSC B9 Tor T & 3@t 2

(b) Using VSEPR rule predict the shape of
ICl3.

VSEPR ©% 239 IR ICI; (TR wigfe
Rfr =)
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(c) What is Bohr’s radius ?

T[T Pl e & 3o 2

(d) Out of the following anions which is
more stable and why ?

OoT® Tl SIEHCAIR (0! (AR 73 oiss [/ 2

otlen

(e) Out of the following which is a stronger
acid and why ?

wers il AR @Il @R S o [ e
HCOOH, CH,COOH

(f/’  Among the following which is aromatic
and why ?

weo AR (ST GERItve e 59 2

v @ | |

(g0 Which of the following is more reactive
towards electrophillic attack ?

oo AP (PN ey afStom
fRiear ofs @R AfEFT ¢
CH, NO,

g O Qg

(i) (i) (i22)
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2. Answer the following : 2x4=8
OO AR Tl a8

(@)

(b)

(c)

(d)

State and explain Heisenberg’s
uncertainty principle. 2x4=8

QTR SfcTeR At &R Py 39 |

Why is AICl3 covalent, While AlF3 is
lonic ?

AICl; (0! 7S, 68 AlF; (9106 SE=
[T 9 |

What are antiaromatic compound ? Give
examples.

féﬁl?uﬂm s et & ol 2 TwimRd
|

Assign R/S configuration of the
following compounds. '

oot Al (TR R/S f%ﬁwﬁcﬁ:W|
CHO
() HO H
CH,OH
NH;
(ii) H,C OH
H
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Answer any three questions : Sx3=15

itz fefaby e Tex faa 8

3. (a) Describe the utility of Born-Haber cycle
for calculating the lattice energy of
sodium chloride.

ST F33eR (@R *ifE st FRkAcaT 3o
(R 5 JITR 391 |

(b) Identify the products of the following
reactions. 1x5=5

oo RiFayR RiTamems smidsz oare i |

(i) /\/ + H. Lindlarl's Catalyst
2 4

() S~ — 2o

Zn/H>0

(i) X 9% ,

(iv) HC=CH+H,0—%% ,
H,S04 .
337K

(vy HC=CH +Br,—=%

(c) Compare and contrast about the
. structure and stability of carbocation
and carbanion.

IO WP FLIFTT 5107 A FFTOR
el % AT 7T |
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(d) Draw the radical probability distribution
curves for 1S, 2P and 3d-electrons and
explain the differences.

1S, 2P R 3d Eg Qo Feifdet e

IFFA ARH IR PReww ANy i /10|
(e) Find the

(i) frequency and (ii) wave number of

the 2nd line in the Balmer series in
CGS unit.

IR TT feolm @R
(i) T 2 (i) ©29 WA Hferag aawo

et 0|
Answer any three questions. 10x3=30
Ricerear fofavr esq Ted fuz 8
4. (a) Write short notes on following:
S5+5=10
oot AT SLorl fordl 3
(i) Conformation of ethane
A S
(i) Conformation of cyclohexane
QP TR e
(b) (i) Distinguish between enantiomers
diastereomers. 4
GRS BRI S TR T Al
ferl |
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(i) Write short notes on: 3+3=6
SCoI ot 8
(a) Meso Compound
TR T
(b) Chirality in allenes

afemR TR0

(c) (i) Explain Kolbe and Wurtz reaction
for the synthesis of alkanes taking
suitable examples. 5

TR I Rgo-Reswd sl =i
o RiFaR 2@ @*EE 9o oo
W, @R

(i) Write short notes on: 2%x2=5
SO o7y 8
(a) Hyperconjugative effect
oS Yol der
(b) Inductive effect
SN o

(d) What are quantum numbers ? How do
they arise in the wave mechanical
model of an atom ? Discuss the physical
significance of different quantum
numbers. 2+3+5=10

ERITE MR I F ¢ OB TR w2y s
I3 219 (FEWE (FIRIDN R TeAfG g 2
RRfer @RITN WRAF SifST Revag 36 3111
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(e) What is lattice energy ? How does the
solubility of an ionic solid depend upon
its lattice energy ? Mention the factors
on which lattice energy of an ionic solid
depends. 2+3+5=10

@O *ife e & o 2 wEa o omid

UOIR TRAFITO! 2R (@R *I[GF 8290 (MR
o1 I ? o7 AL GoIR ﬁ%&ﬁ%ﬁ@

39 PR ol |

() Give the detailed account of Fajan’s
theory to explain the partial covalent
character in ionic compounds using
Fajan’s rule. Explains the trend in
solubility of silver halides. Also explain
the trend in bond lengths of the
following silver halides.

AgCl (277 pm), AgBr (289 pm) and
Agl (281 pm) 5+2:5+2:5=10

e AERe wREe TR of (@
FIET NI A IE, SEY T | TR
Motz et o[ fETor (@ iRes @I
WWIWWWC@WW
™ pT 3

AgCl (277 pm), AgBr (289 pm) and
Agl (281 pm)
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